TEMPO

Quart tournant Gauche

Instructions de montage




N
X

o

x 2

K1-41440

K1-41420

x 1
K1-41469
x 1
K1-41477

K1-41472

x 8

K1-41421

K2-41476

K1-41478

x 1

K1-41474

X

K1-41430

x 1

K1-41431

K1-41475

x 1
x 1

K1-41473




x 1
K1-41483

x 1
K1-41482

(=)

k141481 I?/

x 1
K1-41451

x 1 I‘

®

@)
»

x 2 x 2
K1-41450 K1-41455 K1-41456
0, /
° 0 N 115mm

X 6 x 1
K1-41495 K1-41494

0 © S) %
x 58 x 4 = x 52 x 60 x 16 x 16
K3-02045 K3-04110 K3-04199 K3-03051 K3-08001 K3-06070
M10 x 25 910/ 230 M10 912 x 60 210 x 60
x 4 x 28 — x 12 x 72 ® |x12 @) |x2 H
K3-05022 K3-04010 K3-02231 K3-06269 K3-02193 K3-02375
M8 x 20 210 M10 x 20 ST6 x 35 M10 x 35 M10 x 75

D %
x 4 ° x 2 x 2
K3-05007 K3-08002 K3-06029
M5x5 M5x6 ST6 x 60




Garde-corps : en option

©

©

®
Q
® % S
x 1 x 4 x 4
K3-08026 K1-23355 K3-08020
@) @40mm
L 2000mm -
| N ]
| |
@ %3 I
K1-23360
@ @ 10mm
|
& L 2000mm T
) ¥
[ \,J \,J ]
~ x 15
& K1-18052
| @ I
Q RN N
o x 12 ©)
x 6 @ 4 x 20 x 5 K3-06061
K2-46305 K1-01010 K3-08022 ST5x 35
2,5 mm F\
6 mm \




Sans garde-corps
Voir les dessins :

Avec garde-corps
Voir les dessins :

D-& e -




T
T

s S

mm mm mm mm mm mm mm mm mm mm

8] 1620] 1710  1800]  1890] 1980 8] 1440 1520] 1600  1680] 1760

9| 1800 1900] 2000]  2100] 2200 o 1620 1710]  1800]  1890] 1980

10} 1980] 2090] 2200] 2310] 2420 10[ 1800  1900]  2000[ 2100 2200

1] 2160] 2280] 2400] 2520] 2640 11 1980]  2000]  2200]  2310] 2420

12] 2340] 2470] 2600] 2730] 2860 12[  2160] 2280] 2400[ 2520 2640
s= H n:{8,9,10, 11, 12} g= H n:{8,9,10, 11, 12}
n+1 S :[180 ... 220 mm] n S :[180 ... 220 mm]




S
Min 180 mm
Max 220 mm

S
Min 180 mm
Max 220 mm




]

S

Min 180 mm
Max 220 mm
S
Min 180 mm e
Max 220 mm '/90 ®
T
(10) 1.
@
\ e
©®
S
Min 180 mm
Max 220 mm
S .

Min 180 mm
Max 220 mm




Min 180 mm
Max 220 mm

£ E 5]

€ E @

o o

le— (N 0 N %

~— N =

.mmJ ‘

== o o © @
o
>

® ® © ©
® ® ©® ®




Min 180 mm
Max 22i0 mm

S
Max 2f0 mm
S

S
Min 180 mm
Max 220 mm

'

© ©
| o
®© ©
@ C 1T 17 [ 4
®

14

10



min 80 mm

|

°
[~

1




-~
//
7
7
Ve
7
/7
s
/
/
/
/
/
/
/
/
/
/
Pl D
// \\

/ \\ 4
I loo

\ o a |

/S

x 2

x 2

\

12




13






15

25 mm

20

25 mm|

21




H + 60 mm

16









/(-Fuw-w..\\
K \

19






21

1

Max 220 mm

1
R

S
Min 180 mm

Min 180 mm
Max 220 mm

Max 220 mm

S
Min 180 mm

Max 220 mm

S
Min 180 mm
\




Min 180 mm
90° Max 220 mm

'

\

22



S
Min 180 mm

Max 220 mm

9

:

©
©

Min 180 mm

20 mm

3

90° Max 2

¥

23



min 80 mm

|

800 mm

-
,‘, 44\%%%

~

\
|
I
I
/
/
/7

i
7/
-

800 mm:

24



/S

x 2

x 2

\

25



26







25 mm

47

25 mm

48

28



H+ 60 mm

29







31



32






34



35

/7

Tk

@
]




P

[E%]

< u1 ‘
I

ﬁ._s//m

36



min 50 mm
max 80 mm

i

Rl

/f,leml\.nata .

I
= 3 ’\|\ﬁ
SIG (12
a Fl ]
1
1
/185

®4 mm T 10 mm







